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1. Under the Startup India initiative, which authority grants recognition to startups?
a) Ministry of Corporate Affairs
b) Department for Promotion of Industry and Internal Trade
c) State Governments
d) None of the above

2. In the context of Limited Liability Partnerships and Companies consider the following

statements:
Statement 1:LLPs have more flexibility with regard to their internal governance
structure as compared to Companies.
Statement 2: LLPs have lesser compliance requirements as compared to Companies.
a) Statement 1 is correct; Statement 2 is incorrect.
b) Statement 1 is incorrect; Statement 2 is correct.
c) Both statements are correct.
d) Both statements are incorrect.
3. The maximum number of members legally permissible for a private limited company
is .
a) 20
b) 50
c) 100
d) None of the above

4. Which world renowned economist is associated with laying the groups for the

development of Self-Help Groups?
a) Mohammed Yunus
b) Amartya Sen
c) Abhijit Banerjee
d) All of the above.

5. All establishments covered under the ESI (Employee State Insurance) Act are
required to register with the ESIC (Employee’s State Insurance Commission) when
the number of employees employed by them exceed

a) 2
b) 5
c) 10
d) 100

6. In case of partnership firms registered under The Partnership Act, 1932 the liability of
partners is accurately described by which of the following statements?

a) Every partner is liable, jointly with all the other partners and also
severally for all acts of the firm done while he is a partner.

b) The liability of each partner is limited to his agreed contribution.

c) Each partner is liable only for his own acts to an unlimited extend.

d) None of the above.
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Which of the following is a major disadvantage of franchising agreement from the
franchisors’ point of view?

a) Lack of direct control over sales

b) Long-term commitments

¢) Lower income

d) Threat to trade secrets.
Startups falling under the ‘white category’ as listed by the Ministry of Environment,
Forest and Climate Change would be able to self-certify compliance with which of the
following environmental laws?

a) The Water (Prevention & Control of Pollution) Act, 1974

b) The Air (Prevention & Control of Pollution) Act, 1981

¢) The Water (Prevention & Control of Pollution) Cess (Amendment)

Act, 2003

d) All of the above
IPO in the context of corporate financing stands for which of the following?

a) Internal Policy Orientation

b) Intellectual Property Oversight

c) Initial Public Offering

d) Infrastructure Planning Organization
Successful entrepreneurs tend to be which type of risk takers?

a) They are risk-averse

b) They take risk recklessly

¢) They take calculated risk

d) None of the above.
When is franchising is a particularly attractive strategy for businesses in the service
sector?

a) The firm requires long term commitment from store manager.

b) Firm wants to grow fast in terms of geographical reach with limited

investment.

c) Local knowledge is important

d) All of the above.
Which of the following indices have been developed by the World Bank Group to
indicate better and simpler regulations for businesses and stronger protection of
property rights nationwide?

a) Total early-stage Entrepreneurial Activity

b) StartupEarly-StageSurvival Rate

c) Startup Trends Index

d) Ease of Doing Business Index
Which of the following aspects of a sole-proprietorshipbusiness is its most critical
drawback?

a) Formalities for getting started.

b) Legal compliances during operation

c) Potential for growth

d) Business flexibility
Which of the following forms of business organization would not be suitable for a
family-ownedretail business operating locally?

a) Sole-proprietorship

b) Partnership firm

c¢) Private Limited Company

d) Public Limited Company
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Which of the following statements about the relationship between creativity and
innovation is the most accurate?

a) ‘Creativity’ and ‘Innovation’ are equivalent terms.

b) ‘Innovation’precedes‘Creativity’.

¢) ‘Creativity’ and ‘Innovation’ are unrelated terms.

d) ‘Creativity’ is a prerequisite for ‘Innovation’.
A group of enterprises located within an identifiable and contiguousarea producing
similar or complementary products or services is known as a

a) Industrial Cluster

b) Business Incubator

c) Self Help Group

d) None of the above
Which of the following examples would be considered as an example of disruptive
innovation in the context of the music and entertainment industry?

a) From Cassettes to CDs.

b) From DVDs to Blue Ray Discs.

¢) From ‘physical recorded media’ to music streaming.

d) None of the above
The notion that the entrepreneur’s primary task is to drive ‘innovation’ is associated
with which economist?

a) Richard Cantillon

b) Joseph Schumpeter

c) Jean Baptiste Say

d) Carl Menger
Which of the following documentary proofs are required for GST registration?

a) Proof of Constitution of Business

b) Proof of Appointment of Authorized Signatory

c) Proof of Principal Place of Business

d) All of the above
Registering a partnership deep is

a) Mandatory

b) Voluntary without any benefits.

¢) Not mandatory but registration provides several advantages.

d) Absurd as there is no provision for registration
Which of the following is not a desirable entrepreneurial trait under any
circumstances?

a) Impulsiveness

b) External locus of control

¢) Acting on instinct against accepted wisdom.

d) Impatience
Entrepreneurs who copy innovations of other entrepreneurs rather than develop their
own are called?

a) Innovating Entrepreneurs

b) Serial Entrepreneurs

c) Imitative Entrepreneurs

d) None of the above.
Which of the following activities is not an essential entrepreneurial function?

a) Taking steps to establish the enterprise

b) Driving Innovation

c) Strategic Planning




d) Oversee day-to-day operations.

24. Which of the following type of support do Business Incubators usually not provide?
a) Equity financing

b) Office Space and Broadband
c) Liaison with Angel Investors and Financiers
d) Training and Networking

25. In order to eligible to receive gratuity on termination of employment, an employee is
required to have rendered continuous service for not less than how many years?

a) 2 years

b) 5 years

c) 7 years

d) 14 years
Key to Answers:
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A. Choose the correct alternative from the following
(1) Ramisa

(a) Primary Memory
(c) Inputdevice

(b) Secondary Memory
(d) None of these

(2) Which of the following is not a software?
(a) Operating system (b) Compiler
(c) CPU (d) None of these

Full Marks: 25

(3) Which electronic component was used in second generation computer?

(a) Transistor (b) IC

(c) Vacuum tube (d) None of these



(4) Which of the following method is used to represent negative number in computer

system?
(a) Operating system (b) 2’s complement
(c) Both (A) & (B) (d) None of these

(5) Hard copy means
(a) Information stored in memory
(b) Output printed on paper
(c) Information displayed on monitor
(d) None of these

(6) Which of the following is a system software?
(a) DOS (b) M.S. Word
(c) Auto CAD (d) None of these

(7) Which of the following is not an internal command in DOS?
(a) VER (b) DIR
(c) MD (d) Xerox

(8) Where does the cache memory reside?
(a) Between CPU & Hard disk
(b) Between ROM & RAM
(c) Between CPU & Main Memory
(d) None of these

(9) Find the odd pair
(a) Assembler - Software (b) Compiler - Hardware
(c) Printer - Hardware (d) None of these

(10)The base of hexadecimal system is
(a) 2 (b) 8
(c) 20 (d) 16

(11)Which of the following is an application software?
(a) DOS (b) Unix
(c) MS Word (d) None of these

(12)Which part of CPU is used to perform hypical operation?

(a) ALU (b) CU
(c) Both (a) & (b) (d) None of these
(13)Full form of SMPS is

(a) Simple Method Power Supply



(b) Storage Mode Power Supply
(c) Switch Mode Power Supply
(d) None of these

(14)Which of the following provides uninterrupted power to the load?
(a) SMPS (b) UPS
(c) Regulator (d) None

(15)Which of the following is not an impact printer?
(a) Drum printer (b) Line printer
(c) Dot-matrix printer (d) Inkjet printer

(16)One byte means bits
(@) 2 (b) 8
(c) 10 (d) 16

(17)Which of the following is not an octal number?
(a) 177 (b) 567
(c) 378 (d) 234

(18) The digits of binary number system are
(a) 0&1 (b) Oto 7
(c) Oto10 (d) None of these

(19)The 2’s complement of the binary number 1001 is
(a) 0110 (b) 1000
(c) 0111 (d) None of these

(20)The equivalent binary number of the decimal number 27 is

(a) 1111 (b) 10011

(c) 11011 (d) None of these
(21)128+ 53s =

(a) 6510 (b) 658

(c) 64s (d) None of these

(22)Which of the following is not a positional number system?
(a) Binary Number System
(b) Octal Number System
(c) Roman Number System
(d) None of these

(23)Which of the following is an example of non-volatile memory?



(a) RAM (b) ROM
(c) Both (A) & (B) (d) None of these

(24)The equivalent binary number of 7515 is
(a) 111011 (b) 1110101
(c) 1011110 (d) None of these

(25)The hexadecimal equivalent of the number 7819 is

(a) 5B1s (b) 4Ci16
(c) A4 (d) 4E16
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